	PHARMACEUTICAL SUPPI (Annual Contract) RFB 23	intent respo who v	abulation of bids is not in to award to a particular nses are being forwarde vill provide an award rec val by Columbus Counci	contractor. Bid d to the Project Manag ommendation for					
	Pharmaceutical Supply Services (RE-BID) (Annual Contract)				e Medical LLC olin, OH)		ctor. Bid e Project Manager, indation for  ambert Financial dba Medicco Plus (Birmingham, AL)  X  X  X  X  X  X  X  Unit Cost EACH EXTENDED COST  \$0.00 \$0.00		
	Bid Form and Pricing Pages (Form 1, Pages 16-18)			X X					
	Communication Page (Form 2)  Addenda Acknowledgement (Form 3)  E-Verify / GSICA Form (Form 4)  Contract Signature Page (Form 5)  Insurance Checklist / Certificate of Insurance (Form 6)  Business License 2022  W-9 Rev 2018  Pharmaceutical Supply Services (RE-BID) (Annual Contract)			X X					
					х		Х		
					x		Х		
				х		X			
					X		х		
				_	Х	X			
	DRUG DESCRIPTION		EST Yearly Usage	Per Unit Cost EACH	EXTENDED COST	Per Unit Cost EACH	EXTENDED COST		
1	Acetaminophen Suppository	325 mg Suppository	11	\$0.87	\$9.57	\$0.00	\$0.00		
2	Adenosine	3 mg/ml 2 ml Vial (Injection)	34	\$2.49	\$84.66	\$143.5439	\$4,880.4926		
3	Albuterol Sulfate	2.5 mg / .3 ml (Inhalent)	395	\$0.12	\$48.98	\$9.4468	\$3,731.486		
4	Amiodarone	50 mg/ml, Single Dose, Vial, 3 ml (Injection)	23	\$1.94	\$44.62	\$145.4875	\$3,346.2125		
5	Aspirin	81 mg Tablets (Oral)	856	\$0.02	\$17.12	\$1.1187	\$957.6072		

	Pharmaceutical Supply Services (RE-BID) (Annual Contract)				Bound Tree Medical LLC (Dublin, OH)		Lambert Financial dba Medicco Plus (Birmingham, AL)	
6	Atropine	1 mg / 10 ml Syringe (Injection)	19	\$8.999	\$170.98	\$22.6565	\$430.4735	
7	Clonidine	0.1 mg Table PO (Oral)	25	\$3.35	\$83.75	\$11.30	\$282.50	
8	Dextrose 10%	25 gm / 250 ml (Injection)	57	\$4.55	\$259.35	\$0.00	\$0.00	
9	Dextrose 50%	25 gm / 50 ml (Injection)	90	\$13.494	\$1,214.46	\$222.7795	\$20,050.155	
10	Diazepam	10 mg / 2 ml Syringe (Injection)	18	\$33.997	\$611.95	\$0.00	\$0.00	
11	Diphenhydramine	50 mg/ml Syringe (Injection)	28	\$1.14	\$31.92	\$28.1822	\$789.1016	
12	Dopamine	800 ml / D5W 500 ml	2	\$22.4975	\$45.00	\$0.00	\$0.00	
13	Epinephrine	1 mg / 1 ml Ampule (1:1000)	26	\$13.499	\$350.97	\$128.6392	\$3,344.6192	
14	Epinephrine	1 mg / 10 ml Syringe (1:10,000)	181	\$7.597	\$1,375.06	\$134.8768	\$24,412.7008	
15	Epinephrine	1 mg / 30 ml Vial (1:1000)	1	\$186.98	\$186.98	\$0.00	\$0.00	
16	Furosemide	40 mg / 4 ml Syringe	20	\$15.998	\$319.96	\$0.00	\$0.00	
17	Glucagon	1 mg / 1 ml Syringe	19	\$164.93	\$3,133.67	\$301.2467	\$5,723.6873	
18	Haloperidol	5 mg/ml Multi dose Vial 10 gm	14	\$1.20	\$16.80	\$82.8855	\$1,160.397	

	Pharmaceutical Supply Services (RE-BID) (Annual Contract)				ee Medical LLC olin, OH)	Lambert Financial dba Medicco Plus (Birmingham, AL)	
19	Labetalol	20 mg / 4 ml Syringe	36	\$9.499	\$341.96	\$0.00	\$0.00
20	Lidocaine	100 mg / 5 ml Syringe	4	\$5.499	\$22.00	\$0.00	\$0.00
21	Lidocaine	2 gm 500 ml Premixed Bag	2	\$8.333	\$16.67	\$0.00	\$0.00
22	Methylprednisolone (Solu-Medrol)	125 mg Vial	65	\$9.7992	\$636.95	\$298.207	\$19,383.455
23	Methylprednisolone (Solu-Medrol)	40 mg Vial	4	\$7.692	\$30.77	\$185.1731	\$740.6924
24	Midazolam (Versed)	5 mg /ml Vial	66	\$1.29	\$85.14	\$26.4194	\$1,743.6804
25	Morphine Sulfate	2 mg/ml Syringe	195	\$2.744	\$535.08	\$37.742	\$7,359.69
26	Naloxone	2 mg / 2 ml Ampule	154	\$17.593	\$2,709.32	\$0.00	\$0.00
27	Nitroglycerin	0.4 mg Tablet, 25 count bottle	20	\$0.47	\$9.40	\$65.7208	\$1,314.416
28	Nitroglycerin Ointment	2% 1 gm	18	\$45.00	\$810.00	\$187.3766	\$3,372.7788
29	Sodium Bicarbonate	50 meq / 50 ml Syringe	57	\$16.448	\$937.54	\$0.00	\$0.00
30	Zofran	4 mg / 2 ml Syringe (Injection)	111	\$0.33	\$36.63	\$0.00	\$0.00
31	Ketamine	100 mg / 5 ml Vial	50	\$9.549	\$477.45	\$258.431	\$12,921.55
32	Fentanyl	50 mcg/ml 2 ml Vial	50	\$1.80	\$90.00	\$40.5783	\$2,028.915
33	Tranexemic Acid (TXA)	1000 mg / 10 ml Vial	30	\$4.40	\$132.00	\$0.00	\$0.00

	Pharmaceutical Supply Services (RE-BID) (Annual Contract)			Bound Tree Medical LLC (Dublin, OH)		Lambert Financial dba Medicco Plus (Birmingham, AL)	
34	Dextrose 5% Bag	500 ml	100	\$3.97	\$397.00	\$111.4067	\$11,140.67
35	Dextrose 5% Bag	250 ml	100	\$3.70	\$370.00	\$102.5362	\$10,253.62
36	Sodium Chloride 0.9%	100 ml Bag	100	\$3.05	\$305.00	\$217.3329	\$159,305.0157
37	Sodium Chloride 0.9%	1000 ml Bag	733	\$2.98	\$2,184.34	\$2.9041	\$290.4100
38	Sodium Chloride Posi Flush	10 ml Syringe (14 cases)	14	\$64.80	\$907.20	\$36.8945	\$516.523
39	Saline	250 ml	100	\$3.52	\$352.00	\$38.7364	\$3,873.64
		Percentage Discount for Non-Listed Items: 28%					
	TOTAL ESTIMATED CONTRACT VALUE: \$19,392.23						\$303,354.49
	NOTES: "NO BID" Statement from Interboro Packaging Corp (Montgomer, NY)  "NO BID" Statement from YesCare Corp (Brentwood, TN)  "NO BID" Statement from Henry Schein, Inc (Daytona Beach, FL)						